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[
Bi% p: R2 5 R3 % p(u,v) == "(v, 3u + u20, 403 + 2uv) TED
%. R?2 OMDEETREMHIEZTHRADDDERDZI W
> p(u,v) = p/,v), (u,v)# (W) &85 (u,v) PFEET
% X957 (u,v) DESH.
> 5N0,1) BEA, ply PEAMEES X 3 X 5 RHEK U.
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Swallowtail

p(u,v) = t(v, 3ut + u?v, 4ud + 2uv)
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Swallowtail : HORXRES
p(u,v) = t(v, 3ut + u?v, 4ud + 2uv)

v =
3ut + uv = 3ut + U
4ud + 2uv = 4”3 + 2u'
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Swallowtail : FESES

p(u,v) = (v, 3ut + u?v, 4ud + 2uv)

pu(u, v) = 2(6u? +v)"(0,u, 1),
pu(u,v) = t(l, u?, 2u)
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Swallowtail : 237 X — X Z5 {4
(u,v) = (&,m — 68%); (&) = (u,6u® +v)

p(u,v) = t( 3ut + uPv, 4u® + 2uw)
(&) ="(n — 667, =3¢" + &%, =867 + 26n)
ot

Pe = (—12€,-126% + 2¢n, —24€ + 2n)

By = (1,€2,2¢)

t
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8 1-2

[l e

IR D = (—m,7) x (-5,5) LCEFRS N ERITE

p: D> (u,v) = plu,v) := lt(cosvcos u,cosvsinu,sinv) eR3
u=&v=uv(n) EVIEDIT X —XEHZNEL T,

B&n) = p(&v(n) B |pel = |Byl, Pe - By = 0 Zi72F £ 5 7%
p(&,n) ZRDBRE W,
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Mercator's world map

1—tan %

n=log

t . .
p(u,v) = (cosvcos U, COS U Sin u,smv)

&) =" (sechncos &, sechnsin, tanhn)

[

gt V- | A
L ?FEH > "

I I
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SRR - PR

EF
BRI p(u,v) 2% |pu| = |pol, Pu-po =0 Zii72 LTS & X,
(u,v) Z M OFREEER - HEEER L.
> [ZEHEPEIER ] isothermal coordinate system DZFRD BRI
shand 5. [HJPEIESR ] conformal ..DFFH Y D ?
> SRR TAEZRD]

/
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BERT L ZERH

TEF
IERIHHTE p(u, v) D (ug,vo) BT 2T PILZER LI
pu(UO,UO), p’U(anUO) 753\35% Rg 0) 2 ﬁﬁ%ﬁﬂgggﬁ%ﬁ?ﬁ.

dp(T(uo,’Uo)U) = Span{pu(UOa UO)ap’U (UO, UO)}
EROERZ PV w € dp(Tyy,0,)U) &

w = wipy(ug, vo) + wapy(uo, vo)

= (pu(uo,v0), pu(u0, 0)) (wl)

w2

rRIND.
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BT P VZER DN

AR PAVER dp(T(yy ) U) 1EL—2 Y v FZER] R® OEf72E
MaoT, NENERINS.

HE
PERZ NV dp(T (g vy U) DPIRED, FEJE
{pu(uo,v0), polug, vo) } 1B 2 REUTHIIZ

f:(E F) — (pu‘pu pu‘pv)'
F G Do Du Do Dou

72720, BEIX (ug,vo) BT 2EZRT.
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HEANRT h L

> p:R2DU — R3 : [ERIEHE ;5 (uo,v) € U.
> ’)’j(t) = (U,j(t),’l)j(t)) U J:@EEE%%VC ")/k(O) = (’LL(),U()) 27;5
bD (j=1,2)

> 4;(t) = pory;(t)
HE

v = (u,v) = ; IHLT
3(0) = (a0 a0, o) )

L7=235T

3i(0) - 4;(0) = (s, i) (pu o 'p”) (Zj) ”

Dy Pu  Dv:DPov
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R AL

> p:R2DU — R3 : [ERIEHE ;5 (uo,v) € U.
> ’Yj(t) = (U,j(t),’l)j(t)) U J:@EEE%EVC ")/k(O) = (UO,U()) 87;5
bD (j=1,2)

HE
41(0) ¥ 42(0) T A% 0 LT B

}71 '}72

cost) = ——
71l 192l

Edqug + F(u102 + 011U2) + G102
VE(1)? 4 2Fin 01 + G(1)2/ E(tg)? + 2F U902 + G(02)?

YRICE=GH»DF=07%5 01FR? LD 4(0), %(0) ® KT
e —HT 5.
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8 1-3

[l e

IEDFEE a Wt U CERIEE p: R?2 — R? %

p(u,v) = ¢ (acosvcosh tu,asinvcosh 2u,u) TEDZ. EDOK
S IZXLTS) = {p,v); ~m<v 7},

D) :={p(u,v); 6 Su<sd -7Svnm} &THLE, 5(0)
DilE Y D(5) OHFEZ KDL I V.
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Catenoid
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[T

A, (D) = / /D [pu % po dudo
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